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Abstract: This contribution seeks to reach a common understanding on Survival Time.
1
Introduction

No consensus on Survival Time could be reached at SA2#140E meeting. This contribution aims at ensuring a common understanding is reached before informing RAN2 – it basically repeats the email sent by MediaTek during the discussion at SA2#140E.
2
Discussion
An incoming reply LS from IEEE 802.1 (S2-2004934) indicated that "Survival Time" is not used in 802.1 TSN standards.

Instead IEEE 802.1 pointed at the following application characteristic: tolerance to loss
-
maximum number of consecutive frames whose loss can be tolerated by a given application
Depending on the type of application, the tolerance to loss differs but it can be converted to time given a known application cycle:

-
Isochronous and cyclic-synchronous applications: the loss of a single frame may not be tolerated
-
Cyclic-asynchronous applications: can tolerate the loss of a certain number of consecutive frames, i.e., loss of frames for a certain number of consecutive cycles (per subclause 4.6.3.3 in D1.2). This loss tolerance can be converted to time given a known application cycle time.
Given the above, the tolerance to loss (i.e. Survival Time) can be expressed either as:

a)
The number of consecutive frames; 

where the number of consecutive frames is an integer
b)
or as Time = number of consecutive cycles x application cycle time
where: 

-
the number of consecutive cycles need not be an integer

-
the application cycle time is equivalent to the periodicity defined in Rel-16 TSCAI

Both expressions a) and b) are equivalent and therefore it is necessary to ensure what is used in 3GPP is unambiguous, regardless which of a) and b) is eventually selected. To this end, it is also necessary to ensure the "unit" used be unambiguous as well.

The diagram below illustrates the above:
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-
Using expression a) and the unit being a frame (message): 
Survival Time = 7 frames

-
Using expression b) and the unit being Periodicity:
Survival Time = 1.75 periodicity

Proposal 1: it is proposed to agree on the above principles and to indicate these to RAN2 to avoid any misunderstanding.[image: image2.png]
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